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CNGLISH[MCQY> 12 x 1 = 12

ct sentence given below?

. Which one is the corre
A. You, He and I went therc.
B. He, you and I went there.
C. 1, youand he went there.

D. You, I and he went there.

Synonym for 'courteous ' is—
B. Well off

D. Kindness
o complete the following

A. Intelligent

C. Polite
Choose the correct group verb t

sentence: Why arc you looking much
B. run across

A. run down
C. run into D. run off
04. "To fight shy of'' means—
A. Adopt B. To snatch
C. To quarrel D. To avoid
05, “fofi wwifss it T@A" — Which one is the correct English
translation?
A. He sometimes tells a lie.  B. He seldom tells a lie.
C. Somewhat he tells a lie. D. He tells a lie sometimes.
06. Find the incorrectly spelt word.
A. Committee B. Receive
C. Psychology D. Separate
07. 'Bangladesh is over populated’ what is the meaning of the
underlined word mentioned above?
A. Many people B. Too many people
C. So much people D. Too much people
08. Choose the correct form of sentence.
A. T wait your decision. B. I wait to your decision
C. 1 await for your decision D. I await your decision
09: Correct English translation of Bengali phrase “Brer Or
T is—
A. Money makes money B. Money bring money
C. Money beings money D. Money begets money
10. The right form of verb (to say) is used in which of the
following sentence?
A. I heard him saying this, B. I heard him to say this.
C. I heard him said this.
D. T'heard him to have said this.
L1. Which one of the following is correct indirect speech of the
sentence. "He said, do you know me"?
A. He inquired, whether i knew him.
B. He asked me whether i knew him.
C. He told me that if i knew him.
5 D. He asked me that if i know him.

A person whose ‘head’ is in the ‘Clouds’ is
A. A day dreamer
C. Proud

B. Useless
D. An aviator
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!".h.ﬂ L-hlld ?()u must have b{-,‘(.‘]l told to greet your elders and
visitors to your home according to your culture and traditi
You must also have been taught to be polite in comp: and
! > X _ pany and
keep quict while others, especially your elders, spoke. Possibl
you at times grudged such schooling, Possibly, at Iimcf; ym‘n cv Y
prolcstcd such disciplining. Now, certainly you know that ;n
can't always behave the way you want specially in the pr;‘qc?;cc!
of others. There are rules of behaviour you have to follow in a
company. We are social beings and have to consider the effect of
our behaviour on others, even if we are at home and dealing with
our family members. We have two terms to describe our social
behaviour-"etiquette’ and 'manners’. 'Etiquette’ 1s a French word
and it means the rules of carrect behaviour in society. The ward
'manners' means the behaviour that is considered to be polite in a
particular society or culture. Manners can be good or bad. For
example, it is a bad manner to spcak with food in one's mouth.
No one likes a bad mannered person. Remember that ctiquette
and manners vary from culture to culture and from society (o

society.
We learn ctiquette and manners from our parents, families and

various institutions, such as schools, colleges or professional

01

A, f[lzc wn‘rd ctiquette has a French Url-g_i;_whwh means 1}3
:1';1:122 f:):‘;&:c;cl;]illqwuur jn.socmty. On the olhcrr hqndqi
NEEs 15 1k iour that 1s considered to be polite in a
particular society or culture,
As a social being we have to be alert as to how we should
act in front of others. We should always be awarc what
would be the effect of our behaviour towards others. Wel
should respect others and their views We should show
proper respect 1o our elders. While in public places we
should maintain serenity. We should also be punctuoal
where time is concerned. While eating we should show
proper manners. When we are waiting for something we
should stand in a queue. Showing proper ctiquette is the
foremost quality of a well mannered person.
[t 15 necessary that we learn the rules of behaviour and
practice them on a regular basis. Different social occasions
have different manners. We do not show the same kind of]
manners in a wedding reception and a debating cluB.
Hence it 1s important that we Learn our manners
beforehand.
It is universally acknowledged that ctiquette and manners
tend to vary from culture to culture and society to society.
The manners in a wedding reception, for example, will not

always do in a debating club.

hodics. There are rules of behaviour for all kinds of social
occasions and it is important to learn them and practice them in
life. The manners that are correct in a wedding

n a debating club. Thercfore, we have to
ow important

cveryday
reception will not do i
be careful about etiquette and manners. We know h
it is to say 'please’ and 'thank you' in everyday life. A few more
polite expressions such as 'pardon me'. 'excuse me', 'may I, are
bound to make your day smooth and pleasant.

Answer the following Questions:

From your reading of the passage write t
ctiquette and manners.

What rules of behaviour should we follow as social beings?
Why is it important to learn the rules of behaviour?

Why etiquette and manners vary? Give reasons and examples.

he differences between

d out in our country to prevent this
ver thought how

Corona infection to the mass people. Have you ¢
quarantine fime have donc

much impact and effect of this long

your life.

L
[02[Doi

t vourself.
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. network agriculture admission

Now, write a short paragraph on this subject- L page
“Impacts fects of this recent long quarantin¢ time in our : e
mpacts and effects o . group : network agriculture admission
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